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Section A, B and C are compulsory for all Regular and Private students. Please

follow the instructions, given in cach section. Marks distribution for all students

are as shown in question paper. The blind candidates will be given 60 minutes
extra time.
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gvT H : TIPS Section A : Objective Regular 5x1=5 / Private 5-1=3
1. 47 T & =i 4,500 s 8 0 R 2nl

(3t) 150 a2 (7} 200 5@ ] (%) 180 T3 (z) 7 & = & |

For the commission of Rs. 4,500 at 4%, the amount of sale, is :

ta) Rs. 150 (b) Rs. 200 ¢} Rs. 180 (d) None of these.

9. @ Y F T gEn 1 gerd w1 3w x @aur g W IHF y ¥ | gy oy
Tens digit of o number of two digits is x and unit digit is y. The number is :
g 10x + ¥ (b} xy fe) 10y +x (di x +y,
3. = @ AR A offeal @ swegg WA

The order of the matrix having four columns and three rows is :

ta) 3x4 (b) 4 x4 (¢) 4x3 (d) 3x3.
4. log 5+ log 95 % AT ¥ : The value of log 5 + log 25 is :
{a) log 5 (8) log 30 (c) log 125 (d) log 45.
5. Prg e q amy 1 wfewa P s gr d
arT ‘A X RF
r x 100 L}
R = . .
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The formula of percentage of profit on selling price is :
Profit Profit x Selling Price
‘®! Selling Price < 100 (b= 100
Selling Price
te) Profit  * 100 ) (d) None of these.
gug W : Y I Section B : Short Answer Regular 5x3=15 / Private 5x3=15

1. s B IR A | gt R &R |

Define Ratio. Give its essential features.
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In one pot in a mixture of 56 litre the ratjo of milk and water in 5:2. How much water should
he added to it so that the ratio of milk ang watey became 4:5 ?
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How Invoice is prepared ?
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A father's age is three times of hi
son. Find their present nge.

3. STaqE ¥ dv-2 F ge e ¥ 7
What are different types of Matrices ?

s son. After 12 years father's age will be twice that of the
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4. T log 2 = 0.3010 741 log 3 = 0.4771 & Pr=fdfl® ¥ 9 anad -
If log 2 = 0.3010 and log 3 = 0.4771 find the value of following :

ia) log 2.4 (b) log §36 ter V12,
et OR
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1, . .
Ram borrowed Rs. 3,100 at 35‘,: per annum simple interest. What amount he have to pay after

1
4‘2' years ?  http://www.davvonline.com
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Write the formula of profit, loss, cost price and selling price.

sqar OR
frer arceft & o # ATy g W A
Calculate mean height of the studente from the following seres :
Faré (= )
Height (in inch) 64 65 66 67 68 69 70 71 72 733
om # gEr
No. of students 01 06 10 22 21 17 14 05 03 01

w7 ® : fid IAfT Section C : Long Answer Regular 5x4=20 / Private 5x6=30
1. & gl ¥ 75% orx i ¥, 70% oy wier & 1@ gy ofc 23% orv R fwdt ¥ % gL | AR 136
g 2 Adt & arw gq & o ol § 337 T 9 o0 A Hen AR |
In an examination 756% students passed‘ in Maths, 70% passed in Statistics and 23% failed in
both the subjects. If 136 students passed in both the subjects, calculate the number of candidates,

who appeared in the examination.

mar sgua s wr wfy e # = A |
Distinguish between sacrificing ratio and €aining ratio.
2. Py groa it /) wa #iftre ¢ Solve the following simultaneous equations |

L -9 X X_
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A boatman goes 96 km. in 08 hours with _ ‘ < aainst
the flow. Find the speed of the boat und ﬁ?:r flow of a river nnd return n 12 hours ng
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Find the valus of A - 28 and A v B whors ¢
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Find the vidue with the help of lognrithm tnbles
(20.30) « 0,466
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How much will . 26,000 nmount W in 2 ysars al compound intereat if the rates for the

puceersive yours b A% oo B% por year,
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A tendor sells two horses for Hu 990 eneh, O thin deal he ging 10% on e first horse and
bunes 10% on the other, Pl the pereent of Lotal gain or loss,

st OR
woreery wrer vy A7 ¢ Caleulats Harmonic Mean :
s Marks ! 0-10 10-20 20-30 30-40 40-0H{)
rhmnfdul t emr No, of students . 04 05 11 06 04
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